Lesson #18 Complete the following on loose leaf and email it to me @ Stacey.hayes@nbed.nb.ca      p.59
Formative Assessment: PR4-  Inequalities
Name :____________

Date :____________

1. Complete with <, >, =
a.  51____23

b. -5 _____ -4


c. -1.05__-1.06______

2. Solve the inequality. Show the solution set on a number line. 2x – 7 < 3, xєR


3. Why do we use a solid line when drawing solution sets for R and dots for Z? 
4. Solve and show the solution set on the number line
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5. Explain the difference between 
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 6. Write the inequality for the following number lines:
a. 
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